UGC NET 2022 POPULATION STUDIES

Topic:- 015_PARTA_S2

1)
In which of the follewing period, did the Sample Registration System in India become operational?

. 1963-64
. 1969-70
,1973-74
.1983-84
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1963 - 64
1969 - 70
1973 -74
1983 -84
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[Question ID = 4259][Question Description = 101_15_PPS_SEP22_S2_QO01]
1. 1 [Option ID = 17033]
2. 2 [Option ID = 17034]
3. 3 [Option ID = 17035]
4. 4 [Option ID = 17036]

2)
In which year was the National Sample Survey (NSS) system established?

1.1542
2,1547
3.1549
4,15851
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1.15942
2,1547
3,1548
4715851

[Question ID = 4260][Question Description = 102_15_PPS_SEP22_S2_Q02]
1. 1 [Option ID = 17037]
2. 2 [Option ID = 17038]
3. 3 [Option ID = 17039]
4. 4 [Option ID = 17040]



3)
Which variable among the following is not a demographic characteristic of the population?

1. Age structure
2. Sex structure
3, Marital status
4, Literacy level
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[Question ID = 4261][Question Description = 103_15_PPS_SEP22_S2_QO03]
1. 1 [Option ID = 17041]
2. 2 [Option ID = 17042]
3. 3 [Option ID = 17043]
4. 4 [Option ID = 17044]

4)
Which of the following is an indicator of the degree of age heaping?

. Whipple's Index
. Pearl Indey
. Moiver's Index
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. Human Development Index
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[Question ID = 4262][Question Description = 104_15_PPS_SEP22_S2_Q04]
1. 1 [Option ID = 17045]
2. 2 [Option ID = 17046]
3. 3 [Option ID = 17047]
4. 4 [Option ID = 17048]

5)
Which one of the following data is considered for the numerator to calculate the pericd prevalence rate

during the reference period (the time period of observation)?

1. New cases only

2, 0ld casesonly

3. Both old and new cases

4 0Old cases minus new cases
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[Question ID = 4263][Question Description = 105_15_PPS_SEP22_S2_QO05]
1. 1 [Option ID = 17049]
2. 2 [Option ID = 17050]
3. 3 [Option ID = 17051]
4. 4 [Option ID = 17052]

6)
Which one of the following formula gives doubling time(t) of a given population? {for a growth rate of

%)
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[Question ID = 4264][Question Description = 106_15_PPS_SEP22_S2_Q06]
1. 1 [Option ID = 17053]
2. 2 [Option ID = 17054]
3. 3 [Option ID = 17055]
4. 4 [Option ID = 17056]

7)
In which of the follewing sampling techniques, a sampling unit can be repeated for more than once?

1. Sampling without replacement
2. Simple sampling

3, Sampling with replacement

4, Quota sampling
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[Question ID = 4265][Question Description = 107_15_PPS_SEP22_S2_Q07]
1. 1 [Option ID = 17057]
2. 2 [Option ID = 17058]
3. 3 [Option ID = 17059]
4. 4 [Option ID = 17060]

8)
Which of the following mean is mostly affected by extreme values?

1. Geometric mean
2. Harmionic mean
3. Arithrmietic mean
4 Trimmed mean
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[Question ID = 4266][Question Description = 108_15_PPS_SEP22_S2_Q08]
1. 1 [Option ID = 17061]
2. 2 [Option ID = 17062]
3. 3 [Option ID = 17063]
4. 4 [Option ID = 17064]

9)
if % (miean) is*4 and the data distribution is 2, 3, 4, 5, 6, the sum of squared deviation fram the x (mean)

will be:

1.12
2,10
3.8
4
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[Question ID = 4267][Question Description = 109_15_PPS_SEP22_S2_Q09]
1. 1 [Option ID = 17065]
2. 2 [Option ID = 17066]
3. 3 [Option ID = 17067]



4. 4 [Option ID = 17068]

10)
Which of the following measures of dispersion ensures the highest degree of reliability?

1. Range Mean

2, Mean Deviation

3, Standard Deviation
4, Quartile Deviation
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[Question ID = 4268][Question Description = 110_15_PPS_SEP22_S2_Q10]
1. 1 [Option ID = 17069]
2. 2 [Option ID = 17070]
3. 3 [Option ID = 17071]
4. 4 [Option ID = 17072]

11)
Which among the fellowing is nearest to describing demographic dividend?

1. Development epportunities owing to drop in the fertility

2, Better development prospectsdue to the low burden ef the child population

3. Rapid economic growth potential owing to the large share of the working-age population and
relatively low child dependency ratios

4, Better development potential due to low population growth rate
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[Question ID = 4269][Question Description = 111_15_PPS_SEP22_S2_Q11]
1. 1 [Option ID = 17073]
2. 2 [Option ID = 17074]
3. 3 [Option ID = 17075]
4. 4 [Option ID = 17076]

12)
What does the 'De Facto’ population refer to?

1. All civilian foreign residents

2, All people present in any area at a given time

3, All legal residents

4, All diplomatic persennel located within a country
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[Question ID = 4270][Question Description = 112_15_PPS_SEP22_S2_Q12]

1. 1 [Option ID = 17077]
2. 2 [Option ID = 17078]
3. 3 [Option ID = 17079]
4. 4 [Option ID = 17080]

13)
Which one of the following states recorded the highest increase inthe number of Census towns between

2001 and 2011 Indian Census?

1. Kerala

2. West Bengal
3, Maharashtra
4, Uttar Pradesh
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[Question ID = 4271][Question Description = 113_15_PPS_SEP22_S2_Q13]

1. 1 [Option ID = 17081]
2. 2 [Option ID = 17082]
3. 3 [Option ID = 17083]
4. 4 [Option ID = 17084]

14)
In Bongaarts model, the Index of Proportion Married, Cm = I m(a) g(a)/ Z g(a). What does g(a) stand for

in this equation?

1. Age-specific proportion married
2, Age-specific married fertility rate
3. Age-specific fertility rate

4, Total fertility rate

aﬁn@ﬁ@ff{ﬁaﬁa U YE@®i®, Cm =3 m(a)a(a)/3g(a) %mﬂgmﬁ gla) T HIua g ?

1. A - f3f2p faanzd eFua
2. 9[- [3Rp fqaigd we &
3.9 - AR T
4,79l o X

[Question ID = 4272][Question Description = 114_15_PPS_SEP22_S2_Q14]
1. 1 [Option ID = 17085]



2. 2 [Option ID = 17086]
3. 3 [Option ID = 17087]
4. 4 [Option ID = 17088]

15)
Which of the following is a basic assumption in the calculation of SMAM?

1. Beth fertility and mortality have remained constant in past
2, Marriage has remained constant in past

3. Fertility has been constant in past

4 Mortality has been constant in past
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[Question ID = 4273][Question Description = 115_15_PPS_SEP22_S2_Q15]
1. 1 [Option ID = 17089]
2. 2 [Option ID = 17090]
3. 3 [Option ID = 17091]
4. 4 [Option ID = 17092]

16)
Which of the following concept explains why a population will centinue to grow even if the fertility rate

declines?

1. Demographic transition
2, Population bomb

3. Population momentum
4. Demographic dividend
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[Question ID = 4274][Question Description = 116_15_PPS_SEP22_S2_Q16]
1. 1 [Option ID = 17093]
2. 2 [Option ID = 17094]
3. 3 [Option ID = 17095]
4. 4 [Option ID = 17096]



17)
Which among the following measure was used by "Brass’ for fertility estimate?

1. Reverse Survival Method

2, P/F Ratio Method

3, Parity-Ratio Methed of Fertility
4, Child-Wgoman Ratio
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[Question ID = 4275][Question Description = 117_15_PPS_SEP22_S2_Q17]
1. 1 [Option ID = 17097]
2. 2 [Option ID = 17098]
3. 3 [Option ID = 17099]
4. 4 [Option ID = 17100]

18)
Which was the first use of an international classification system of disease?

1. Ta identify communicable diseases

2, To identify regional epidemics

3, To identify how many people are getting medical care
4, To identify causes of death
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[Question ID = 4276][Question Description = 118_15_PPS_SEP22_S2_Q18]
1. 1 [Option ID = 17101]
2. 2 [Option ID = 17102]
3. 3 [Option ID = 17103]
4. 4 [Option ID = 17104]

19)
Which of the following is the denominater to calculate Perinatal Mertality

7

1. Number of live births

2, Number of live and still births

3, Number of live births excluding still births
4, Number of still births
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[Question ID = 4277][Question Description = 119_15_PPS_SEP22_S2_Q19]

1. 1 [Option ID = 17105]
2. 2 [Option ID = 17106]
3. 3 [Option ID = 17107]
4. 4 [Option ID = 17108]

20)
if country A has a higher life expectancy than country B, while A has:a higher crude death rate, it is likely

that

1. &'s'population is younger than that of B

2, A's'population is older than that of B

3, A's population has a high infant mortality rate
4 It is not possible ta infer

ofe; ST A B G B B UET I g YAl 6, Falh A B SRIUT A G2 9= 6, 11 299 94a & [&

1.A B SHET B BT U A &

2. A P TIUET B FT HUET IS &
3AD G B R gg oA e
4 OftoTs R dyd 98 8

[Question ID = 4278][Question Description = 120_15_PPS_SEP22_S2_Q20]
1. 1 [Option ID = 17109]
2. 2 [Option ID = 17110]
3. 3 [Option ID = 17111]
4. 4 [Option ID = 17112]

21)

=

Which among the following is NOT included in infant mortality?

1. Early neonatal mortality
2, Peri-natal mortality

3, Post-neanatal mortality
4, Late neonatal mortality
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[Question ID = 4279][Question Description = 121_15_PPS_SEP22_S2_Q21]
1. 1 [Option ID = 17113]
2. 2 [Option ID = 17114]
3. 3 [Option ID = 17115]



4. 4 [Option ID = 17116]

22)
Which -among the foliowing was considered by Walter Christaller to define the threshold of central

goods?

1. The minimum market area needed for a sustainable business of goods and services
2, Least travel time needed for a sustainable business of goods and services

3, Maximum market area needed for a sustainable business of goods and services

4, Least business for a sustainable business of goods and services
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[Question ID = 4280][Question Description = 122_15_PPS_SEP22_S2_Q22]
1. 1 [Option ID = 17117]
2. 2 [Option ID = 17118]
3. 3 [Option ID = 17119]
4. 4 [Option ID = 17120]

23)
Which among the following defines forced migration acrass international borders?

1. Immigrants
2, Emmigrants
3. Displaced
4, Refugees
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[Question ID = 4281][Question Description = 123_15_PPS_SEP22_S2_Q23]
1. 1 [Option ID = 17121]
2. 2 [Option ID = 17122]
3. 3 [Option ID = 17123]
4. 4 [Option ID = 17124]

24)
Who has given the statement "An almost frantic desire to increase population prevailed in all countries™?

1. Niccolo Machiavelli
2, Eli Heckscher

3. Giavanni Botero

4. T. R Malthus
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[Question ID = 4282][Question Description = 124_15_PPS_SEP22_S2_Q24]

1. 1 [Option ID = 17125]
2. 2 [Option ID = 17126]
3. 3 [Option ID = 17127]
4. 4 [Option ID = 17128]

25)
According to C.P. Blacker which is the third phase of Demographic Transition?

1. The declining stage

2, The late expanding stage

3. The early expanding stage
4, The high stationary stage
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[Question ID = 4283][Question Description = 125_15_PPS_SEP22_S2_Q25]

1. 1 [Option ID = 17129]
2. 2 [Option ID = 17130]
3. 3 [Option ID = 17131]
4. 4 [Option ID = 17132]

26)
How is the stunting of children measured 7

1. Height for age
2, Height for weight
3. Weight fer height
4, Weight for age
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[Question ID = 4284][Question Description = 126_15_PPS_SEP22_S2_Q26]

1. 1 [Option ID = 17133]
2. 2 [Option ID = 17134]
3. 3 [Option ID = 17135]
4. 4 [Option ID = 17136]



27)
What is the share of the tribal population tototal population in India, according to the census 20117

1.7.6%
2.8.6%
3, 6.8%
4, 6.7%
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1.7.6 %
2.86%
3.68%
4 6.0%

[Question ID = 4285][Question Description = 127_15_PPS_SEP22_S2_Q27]
1. 1 [Option ID = 17137]
2. 2 [Option ID = 17138]
3. 3 [Option ID = 17139]
4. 4 [Option ID = 17140]

28)
As per the 75' round of the NSSO Data, which component of medical care expenditure was the highest?

1. Medicines
2. Diagnostics
3, Dector's fes
4 Bed Charges
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[Question ID = 4286][Question Description = 128_15_PPS_SEP22_S2_Q28]
1. 1 [Option ID = 17141]
2. 2 [Option ID = 17142]
3. 3 [Option ID = 17143]
4. 4 [Option ID = 17144]

29)
Which type of research is most suitable for an entirely new area?

1. Exploratory
2, Descriptive
3, Correlation
4, Experimental
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[Question ID = 4287][Question Description = 129_15_PPS_SEP22_S2_Q29]
1. 1 [Option ID = 17145]
2. 2 [Option ID = 17146]
3. 3 [Option ID = 17147]
4. 4 [Option ID = 17148]

30)
What is'a Type Il (twa) error in the testing of a hypothesis?

1. Aceepting null hypothesis when it is true
2. Rejecting null hypothesis when it is true

3, Accepting null hypethesis when it is false
4, Rejecting null hypothesis when it is false
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[Question ID = 4288][Question Description = 130_15_PPS_SEP22_S2_Q30]
1. 1 [Option ID = 17149]
2. 2 [Option ID = 17150]
3. 3 [Option ID = 17151]
4. 4 [Option ID = 17152]

31)
Which one is not correct about Intensified Mission Indradhanush (IMI)?

1. it was launched in October 2017 after 4 phases of Mission Indrachanush (M1)

2.1t aimed to reach 90% full immunisation coverage in districts and urban areas with persistently low
levels

3, IMI was built en M|, using additional strategies to reach populations at high risk, by invalving
sectors other than health

4 it aimed to cover all those children who are either unvaccinated or are partially vaccinated against

vaccine-preventable diseasesspecially in urban slums and tribal population
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[Question ID = 4289][Question Description = 131_15_PPS_SEP22_S2_Q31]
1. 1 [Option ID = 17153]
2. 2 [Option ID = 17154]
3. 3 [Option ID = 17155]
4. 4 [Option ID = 17156]

32)
What is the share of all household out of pocket expenditure in Current Heslth Expenditures as per the

Mational Health Account-Report, 2016-177

1..50%
2,70%
3.63%
4, 80%
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[Question ID = 4290][Question Description = 132_15_PPS_SEP22_S2_Q32]
1. 1 [Option ID = 17157]
2. 2 [Option ID = 17158]
3. 3 [Option ID = 17159]
4. 4 [Option ID = 17160]

33)
Due to contamination of water with which one of the following mineral, children’s teeth could become

chalky white and may have white, yellow, brown or black spots or streaks on the enamel surface?

1, Calcium

2, Magnesium
3, Fluroid

4 Zink
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[Question ID = 4291][Question Description = 133_15_PPS_SEP22_S2_Q33]
1. 1 [Option ID = 17161]
2. 2 [Option ID = 17162]
3. 3 [Option ID = 17163]
4. 4 [Option ID = 17164]



34)
Which among the following denctes a conjectural statement of the relaticnship between twe or more

variables in research?

1. Statement of problem
2, Review of literature

3. Hypothesis

4 Causation
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[Question ID = 4292][Question Description = 134_15_PPS_SEP22_S2_Q34]
1. 1 [Option ID = 17165]
2. 2 [Option ID = 17166]
3. 3 [Option ID = 17167]
4. 4 [Option ID = 17168]

35)
Which of the following region has reaped maximum benefits of "Demographic Dividend"?

1. South-Central Asia
2, Latin America

3. East Asia

4 Africa
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[Question ID = 4293][Question Description = 135_15_PPS_SEP22_S2_Q35]
1. 1 [Option ID = 17169]
2. 2 [Option ID = 17170]
3. 3 [Option ID = 17171]
4. 4 [Option ID = 17172]

36)
Which one of the following stands for ‘T in the IPAT equation, which was formulated in 1890 by Paul

Ehrlich and Ann H. Ehrlich?

1. Temperature
2, Technology
3, Time

4, Tract
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[Question ID = 4294][Question Description = 136_15_PPS_SEP22_S2_Q36]
1. 1 [Option ID = 17173]
2. 2 [Option ID = 17174]
3. 3 [Option ID = 17175]
4. 4 [Option ID = 17176]

37)
Which of the following factor is not affecting the sex ratic of India's population?

1. Sex ratio at birth

2, Sey differential in child mortality
3, Sex-selective migration

4, Sex-selective unider-enumeration
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[Question ID = 4295][Question Description = 137_15_PPS_SEP22_S2_Q37]
1. 1 [Option ID = 17177]
2. 2 [Option ID = 17178]
3. 3 [Option ID = 17179]
4. 4 [Option ID = 17180]

38)
urban areas?

1. West Bengal
2, Maharashtra
3. Tamil Nadu
4, Goa
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[Question ID = 4296][Question Description = 138_15_PPS_SEP22_S2_Q38]
1. 1 [Option ID = 17181]

According to 2011 census, which among the following state ‘has the highest proportion of people living in



2. 2 [Option ID = 17182]
3. 3 [Option ID = 17183]
4. 4 [Option ID = 17184]

39)
Which among the following cartographic methods best represents the volume of migraticn between

several places?

1. Dot diagram

2, Flow diagram

3. Pie chart

4, Proportional circle

FgfaRad § 9 ey amfea FAw &Y 9 one v & 99 UaY &4 ald odiaadl @) 9 @] 9ardd
P=gurgETe 2

1. S SEIH
2. T sETH
3. 9 A

4, SIGS 9

[Question ID = 4297][Question Description = 139_15_PPS_SEP22_S2_Q39]
1. 1 [Option ID = 17185]
2. 2 [Option ID = 17186]
3. 3 [Option ID = 17187]
4. 4 [Option ID = 17188]

40)
if 150 pecple have migrated from place A, whose total population is 5000, to place B whose total

population is 6000, what percentage of the population has migrated out?

1.25
2.3.0
3.35
4,40

ofg T A, @ $o S0EI1 5000 § 981 ¥ 150 T 6000 B @ S-9E ad ©H 8 H vE &g g
TG @1 o UioRia ared Uard (a1 8 2

1.2.5
2.3.0
3.35
4.40

[Question ID = 4298][Question Description = 140_15_PPS_SEP22_S2_Q40]
1. 1 [Option ID = 17189]
2. 2 [Option ID = 17190]
3. 3 [Option ID = 17191]
4. 4 [Option ID = 17192]



41)
Which of the following is not captured by the Health Management Information System (HMIS) developed

by the Ministry of Health and Family Welfare, Government of India?

1. Facility-wise service delivery

2, Training to various categories of staff
3. Infrastructure and human resources-
4, Malnutrition among 0-5 children

W Td ORAR $e0 HAed, YR IRER GR1 [ae i @ UeeE gaq1 o (09 o o @) J
feftfed # 8 s o e T o e 2

1. GfEER 441 uiEE
2. Tafirz aftraf & saaEl &1 uiRemy
3, UL U8 9 |aE

4,0~ 5 3gE & S=df § uigyl

[Question ID = 4299][Question Description = 141_15_PPS_SEP22_S2_Q41]
1. 1 [Option ID = 17193]
2. 2 [Option ID = 17194]
3. 3 [Option ID = 17195]
4. 4 [Option ID = 17196]

42)
In which year was the protection of women from domestic violence act passed?

1..1890
2,2000
3,2005
4,2010

e fewr § Afesd @ 9am Hugs fig oy mid gan 2

1..1990
2.2000
3

[Question ID = 4300][Question Description = 142_15_PPS_SEP22_S2_Q42]
1. 1 [Option ID = 17197]
2. 2 [Option ID = 17198]
3. 3 [Option ID = 17199]
4. 4 [Option ID = 17200]



43)
Which of the following content errors are observed in census?

A, Misreporting of age

B. A preference for ages ending with certain digits

C. Ages unknewn or not stated

D. Net courit at the older ages

Choose the correct answer from the options given below:;

1.4 and D only
2.A and B only
3,A Band Conly
4 A Band D only

Fafafed # 9 & 9 SaoE § ardl o gl @ 3fedi ®
A, 34 @GR H 7Ted SHER ol

B, Biauy 314 & Gy YHIT & aicll 31 gg addl

C. 3 B STHSRT e Ua] saml Tl 7l

D. G5l Pl Hag U

e fu e fowed! 9 4 W S T ;

1. @ad A AN D
2, Faa A ARB
3, HIAA B AR C
4, FaA A BIARD

[Question ID = 4301][Question Description = 143_15_PPS_SEP22_S2_Q43]
1. 1 [Option ID = 17201]
2. 2 [Option ID = 17202]
3. 3 [Option ID = 17203]
4. 4 [Option ID = 17204]



44)
Which of the following are measures of dispersion?

A. Range

B. Quartile deviation

C. Mean deviation

D. Standard deviation

E. Median

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 C,D Eand A only

eI eH-SUPIT S AT & ?
A TRTH (9)

B, T4 faaeH

c. A1 fage

D. HT @ fdg9e

E. HIfE®

7 74U T fadbed] 5 & Wel S7R 4 ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4, FFAC, D, EAR A

[Question ID = 4302][Question Description = 144_15_PPS_SEP22_S2_Q44]
1. 1 [Option ID = 17205]
2. 2 [Option ID = 17206]
3. 3 [Option ID = 17207]
4. 4 [Option ID = 17208]



45)
Which of the following assumptions are associated with a linear regression model?

A, Linearity

B. Homoscedasticity

C. Independent

D. Normality

E, Dependent

Choose the correct answer from the options given below:;

1.4, B, D and E only
2.A B CandDonly
3,A B Cand Eonly
4 B, C DandE only

Fafeiad 3 9 sH-41 AfHuRumE 3REe uiarEE wieHH 9 9afid & 2
A, XRgHdl

B. FHGHIET

C. oA

D. HEFT

E, 31113

74 fou 7T¢ faded] 3 § 98 I g ;

1. 990 A, B, D AR E
2, FaAA, B, C IR D
3, HIAA, B, C AR E
4, %9E, C DIRE

[Question ID = 4303][Question Description = 145_15_PPS_SEP22_S2_Q45]
1. 1 [Option ID = 17209]
2. 2 [Option ID = 17210]
3. 3 [Option ID = 17211]
4. 4 [Option ID = 17212]



46)
Which of the following statistics are unbiased?

A, Sample mean

B. Sample proportion

C. Population mean

D. Sample variance

Choose the correct answer from the options given below:

1.4, B and D only
2,4 Band Conly
3.B, Cand D only
4D, Cand A anly

Fofafag 3 § oW-41 gt vaua e § 7
A, Ufogef A
B, e SHma

C, S-EE AT
D. Hice] HeRor
T Ru e 4 € W I

1.9ad A, B IR D
2. FFAA B ARC
3, &ad B, CARD
4, FFAD, C HR A

[Question ID = 4304][Question Description = 146_15_PPS_SEP22_S2_Q46]
1. 1 [Option ID = 17213]
2. 2 [Option ID = 17214]
3. 3 [Option ID = 17215]
4. 4 [Option ID = 17216]



47)
Which of the following services are provided to the senior gitizens under the Integrated Programme for
Older Persons (IPOP) in' India?

A. Maintenance of Old-Age Homes

B. Maintenance of Respite Care Homes

C. Mobile Medicare Unit

D. Old Age Pensions

E. Day Care Centre for Care of Old Person with Dementia
Choose the correct answer from the options given below,

1.4, B, Cand E only
2,A B Cand Donly
3.B, C, D and E only
4 A B DandE only

9 Shfad] o [O70 UPTBd PIADH B Sfid A8 TIRE! P Fgd H1F U1 qayd UaH o1 @il 6 7
A, Ty B TEYE

B, BT GOHIT To! &1 1@ @G Bl

C. iR HSIhIR 5P

D. JSIaR) 43

£, W T A 35 i P a8HTd 6 S DU Hg

e fou e fased! 7 4 1 SW T ;

1. A A, B, C IR E
2, FFAA, B, C IR D
3. %99E, C, DIRE
4, FIAA B DARE

[Question ID = 4305][Question Description = 147_15_PPS_SEP22_S2_Q47]
1. 1 [Option ID = 17217]
2. 2 [Option ID = 17218]
3. 3 [Option ID = 17219]
4. 4 [Option ID = 17220]



48)
Which of the following combination in the migration hypothesis is NOT propounded by Everett Lee
{1966)7
A. The volume of migration varies with the diversity of people in that temritory
B. The volume of migration varies with the fluctuation in the economy

C. The rate and valume of migration vary with the state of political stability in a country or area

D. The velume of migration within a given temitory varies with the degree of diversity of the areas
included inthat territory,

Choose the correct answer from the options given below;

1.4, B and D only
2. A and D anly
3. B and D only

4, Conly

Tae Uee 8§ FEERed S19-8 90eH &1 394 9 (1966) BRI faand wige e foar Tan

A, 3G Y4 H ATl @1 fafaedr & SiUR OR ganydl o) 9 - g eidi 81

B. Hcma®1 H GaR-9¢id & UR U Haledl &) S 147 Bidl o

c. e Swr T 47 & veifos R @ FUfS & SR o varfad! @1 &1 o dem i g 2

D. G YyiT & e &5 o fafdsmr &1 9 & nuR o B 0 gy & Hiay garidl o1 9 i i
gl 5

e R e owedl F S o S T -

1.&ad A, BIARD
2. FAA AND
3, @dd BIRD
4,FaAC

[Question ID = 4306][Question Description = 148_15_PPS_SEP22_S2_Q48]
1. 1 [Option ID = 17221]
2. 2 [Option ID = 17222]
3. 3 [Option ID = 17223]
4. 4 [Option ID = 17224]



49)
Which of the following statement(s) are true?

A, Cohiort TPRs reflect the experience of real people

B. Cohort TFRs are distorted by transient pericd effects

C. It is impossible to obtain up-to-date Cohort TFRs

D. Cohort TFR can be calculated using data from NFHS-4
Cheose the correct answer from the options given below:

1. A only

2. A and Conly

3, B only

4, All statemients are true

Feftea dd e g/ Savadi 8/ 87

A DIele STHHR ardia® aill & 9Yd & cuidl 8

B, BIGIC CIUBSR &0 S1ad gHial g1 Feiud gidl 8

C. 3T BT FUHIAR W @A YT &

D. U U U UH-4 & @S] Bl JUaN] @i BIele cUB3N @] 0] @1 o §adl 8l
1< f5u ¢ fased 5 9 Wl SR 9 :

1. Fad A

2, FIAAARC
3, HaAB

4 i FE Tl gl

[Question ID = 4307][Question Description = 149_15_PPS_SEP22_S2_Q49]
1. 1 [Option ID = 17225]
2. 2 [Option ID = 17226]
3. 3 [Option ID = 17227]
4. 4 [Option ID = 17228]

50)
Since 2000, which disease has contributed to maximum deaths globally

¥

A. Meonatal conditions

B, Chronic obstructive pulmonary disease

C. Lower respiratory infections:

D. Ischiaemic heart disease

Cheose the correct answer from the options given belaw:;

1.4, B and D only
2.Donly
3.A Band Conly
4, B only



FafiiEd # ¥ fe6w I & SR a4 T W a9 2000 ¥ FaliU® Ad g3 & 2
A, g TRg

8. fer@iior® Jaig® TFpd

C. SHHI-4T o H HehHwr

D. 3¥HH® Bad W1

74 fau 7TC fasped! 3 9 we) Sw g ;

1.®aA A, B HR D
2, §FED
3, PIAA, B AR C
4, IR

[Question ID = 4308][Question Description = 150_15_PPS_SEP22_S2_Q50]
1. 1 [Option ID = 17229]
2. 2 [Option ID = 17230]
3. 3 [Option ID = 17231]
4. 4 [Option ID = 17232]

51)
What does the |, column show in a life table 7

A Describe the pattern of mortality in this population at a particular time
B. Shows the number of deaths at exact ages

C. Shows survivarship at exact ages

D. Shows the portability of dying

Choose the correct answer from the options given below;

1.B and D only
2,4 BandDonly
3. A and C only

4, Conly

farddt Site arfee o |, Slon T exiar s ?

A, Tosll R Oog o8 56 o § 0dad & Wioey &l aoiH @ |
B. TEI® 3T W T UG & aiar £

C. Gei% AT & o0 SeReiaa &1 (eufd & gaiar g

D. TR &1 iRl & guid g

I fou ¢ fawed! & 4 W) IR g

1.6aA B AR D
2. &ad A BIARD
3, FAAA ANC
4, FFEC



[Question ID = 4309][Question Description = 151_15_PPS_SEP22_S2_Q51]
1. 1 [Option ID = 17233]
2. 2 [Option ID = 17234]
3. 3 [Option ID = 17235]
4. 4 [Option ID = 17236]

52)
Which one of the following terms are associated with the migratien of population?

A, Place of origin

B, Place of destinatien

C. Reverse remittance

D. Commuting belt

Choose the correct answer from the options given below;

1.4, B and D only
2.B, Cand D only
3,4 Band Conly
4 A B CandDonly

Fafeiad # 9 SH-4 ug S & Uaed 3 4efed @ 2
A, \3Eg T I

B, ¥iciod T

C. ufeei® Juo

D. {fH U

7d fou 7Te faped] 4 § U8 Sw g ;

1.&ad A, BIARD
2, FaAE, C AR D
3, FIAA, B ARC
4.7 8 C3IRD

[Question ID = 4310][Question Description = 152_15_PPS_SEP22_S2_Q52]
1. 1 [Option ID = 17237]
2. 2 [Option ID = 17238]
3. 3 [Option ID = 17239]
4. 4 [Option ID = 17240]



53)
Which among the following are causes of urban sprawl?

A, High Land price at core

B. Improvement in transport infrastructure

C. Less pollution cutside the city

D. Bxcessive population growth

Choose the correct answer from the options given below;

1.4, Dand Conly
2.B, Cand D only
3,A Band Donly
4 A B CandDonly

Frafafed & 9 e & oefem ©U Y Bed ol SR 1§ ?
A HE @ I=E A

B. A1 @ SURYd Hea1 3 Ui

C. X1 & 916 &H UGyl @1 5l

D. FdEn & #fY® gfa e

i fgu e faded! 5 & 98] 9w 9 ;

1.@ad A, D IR C
2, FaAE, C AR D
3, HIAA, B AR D
4A B C3IRD

[Question ID = 4311][Question Description = 153_15_PPS_SEP22_S2_Q53]
1. 1 [Option ID = 17241]
2. 2 [Option ID = 17242]
3. 3 [Option ID = 17243]
4. 4 [Option ID = 17244]



54)
Which among the following reasans for migration are available from the census of India 20117

A, Employment

B. Marriage

C. Environmenital migration

D. Violence-induced migration

E. Development project induced migration

Choose the correct answer from the options given below:;

1.4 and B enly

2. A Band Conly

3,A B Cand Donly
4 A B C DandEonly

YR B GFOF 201 H A & AEEa T4 a4 SR & ?
A, ISR

B. fga®

C. TGS vard

D. e Ui varw

£, f[aoT UG Uikd was

7 ToU 7T feded] 5 9 91 S 9 ;

1. a0 A A B

2. FFAA B AHRC
3.&aA, B, C 3R D
4ABCDIRE

[Question ID = 4312][Question Description = 154_15_PPS_SEP22_S2_Q54]
1 [Option ID = 17245]
2 [Option ID = 17246]
3 [Option ID = 17247]
4 [Option ID = 17248]

A w N =



55)
Whe fram the following have propounded the Neoclassical Macro Econemic thearies of labour

migration?

A, Sjaastad, Larry A

B. Sassen, Saskia

C. Lewis, W. Arthur

D. Ranis, Gustav, and J.CH. Fai

Choose the correct answer from the options given below,

1.4 and D only
2,B and Conly
3.C and D only
4 Aand B only

4T Hard & 18 sl ded A4S [FEid & Hainad 5 4 [bwd Uiaiad ] 7
A, SIS, TR T

B, T, TR

c, Tifad, Seeg MR

D. 3%, R4 AR S WL T B

e fou e fased! 7 4 1 SW T ;

1.3ad A AR D
2. FFARARC
3, &ad C 3R D
4, FaAA ANB

[Question ID = 4313][Question Description = 155_15_PPS_SEP22_S2_Q55]
1. 1 [Option ID = 17249]
2. 2 [Option ID = 17250]
3. 3 [Option ID = 17251]
4. 4 [Option ID = 17252]



56)
Which among the following are the characteristics of Central Business Districts?
A. High land value

B. Mass-transit system

C. Spacious and green

D. Concentration of major administrative and commercial activities'
E. Concentration of schools

Choose the correct answer from the options given below,

1.4, B and D only

2,B, Cand D only
3.A B Cand Donly
4 A B C, DandEonly

T SHAEIGD foel B [a3ar HAfaad H Y BH A 8 7
A HE®H I=E A
B. S TR WS
c g e g i
D. WS WRTHH® T4 Aag(iad sraaany & a0
£, Tmal &l 9Ban
74 fau 7T¢ famedl 3 § 98 Ik 9 ;
1.5a0 A, B AR D
2. @ad B, C $R D

3. FAAA, B, C AR D
4,A B C DIIRE

[Question ID = 4314][Question Description = 156_15_PPS_SEP22_S2_Q56]
1. 1 [Option ID = 17253]
2. 2 [Option ID = 17254]
3. 3 [Option ID = 17255]
4. 4 [Option ID = 17256]



57)
Which of the following pollutants is/are carcinogenic?

A, Palycyclic:Aromatic Hydrocarbons

B, Carbon monoxide

C. Benzene

D. Lead

Choose the correct answer from the options given below:

1.8 and D only
2. A anly

3. A Band Conly
4 Aand Conly

Ffad # 9 & 4 Tgu® dwied ¢ 2
A, GRS Ga® Wible® elRamlE—g

B, TEAAIHFEES

C. g7

D. WS

74 fau 7Tu fashed! 3 9 w8 Sw g ;

1. 980 B AR D
2, FaAA

3. FaAA BIARC
4, FFAAANC

[Question ID = 4315][Question Description = 157_15_PPS_SEP22_S2_Q57]
1. 1 [Option ID = 17257]
2. 2 [Option ID = 17258]
3. 3 [Option ID = 17259]
4. 4 [Option ID = 17260]

58)
The sex ratio at birth can be calculated from which of the following data sources?

A, Census

B. Sample Registration System

C. NSSO

D. NFHS

E. DLHS

Choose the correct answer from the options given below,

1.4, B, Cand Donly
2,A B DandE only
3.B, Cand D only

4 A B CandEonly



S &7 GHY [eTIFEIE @1 TUHT Hgiaiad | d fog S1er |id | &) o 9@l 8 7
A, SHTOE

B, Wiagel gelid<or qopet
C.EigaTE 3

D.EHUH T T

ESluaga ey

F R e e F @ o o

1.&ad A, B, C 3R D
2. FaAA, B DARE
3, @I, C AR D

4, FIAA, B, C IR E

[Question ID = 4316][Question Description = 158_15_PPS_SEP22_S2_Q58]
1. 1 [Option ID = 17261]
2. 2 [Option ID = 17262]
3. 3 [Option ID = 17263]
4. 4 [Option ID = 17264]

59)
Which of the following are correct about Catastrophic Health Expenditure?

A, Health expenditure exceeding 10% of a household's total monthly consumption expenditure

B. Health expenditure exceeding 40% of a household's monthly nen-food consumption expenditure
C. Health expenditure exceeding 50% of annual salary

D. Households are forced to mortgage their assets o mest health expenditure

Cheose the correct answer from the options given below;

1.4 and B enly
2. A Band Conly
3,4 BandDonly
4 B and C only



e BRI g B e E A S e A e TR

A el B pa HIih® Wod I & 10% § AU R & |res g

B. TRl Hf TR Wie-E9d W 5 91ci 559 @1 40% T 34fie o= &1 Wy =g
C. AIfe o & 50% ¥ TS 4RI &1 W o

D. e T T T B 970 & ®1 IR $34 & [0 ST 9ufy & S4® @A
Fid feu e fawed! & 4 R Sw g -

1. Paa A HTB
2, FFAA,BARC
3,FIAA, B IR D
4, FFAR AR C

[Question ID = 4317][Question Description = 159_15_PPS_SEP22_S2_Q59]
1. 1 [Option ID = 17265]
2. 2 [Option ID = 17266]
3. 3 [Option ID = 17267]
4. 4 [Option ID = 17268]

60)
Which of the following is/are correct about Prime Minister Martitva Vandan Yojana (PMMVY)?

A, The PMMVY is implemented in all the districts of the country following the provisicn of the National
Foed Security Act, 2013

B. The PMMVY is implemented by the Department of Health and Family Welfare of all States/UTs

C. All first-time pregnant women and lactating mothers not in gevernment jobs who have their
pregnancy/delivery on or after 1.01.2017 are eligible

D. All eligible woemen will get Rs, 5000/~ in three instalments
Choose the correct answer from the options given below,

.Only Aand B
.Only B and C
.Only B and D
.Only A, Cand D

S 0 T W



WU AIge de Oie & an | FEied § 9 $1F &Y T8
A . H FIgE a6 dieH TP 6T e HAHEE, 2013 & SUSY & UR o0 & i el | an e 15
2l

B. WHIFHAT Higd g5 Jiei] ®1 g5 g+l Twdly 99 I &5 & WY X URER Sedml f[aHm gr1
gl

C, Tga aR Tuad §F Tl Afgad R TAUE ®- gial Sial §l SReR] Aied | A6l © o
01.01.2017 @I 91 3H® €IG THURY fa5a & 41 fo-aT Uod 39 dRid ®f 91 34d &G 531 & & 39 dia-l @)
el gl g gl

0. ¥ g Afgast @1 diF &5 | 5000 &, @ €=30181 fHert

e fou ¢ fdmedf & 4 el SR 9 -

1. Fad A R B
2. FEAR ARC
3, FIAB ARD
4, FaAA, CHRD

[Question ID = 4318][Question Description = 160_15_PPS_SEP22_S2_Qé60]
1. 1 [Option ID = 17269]
2. 2 [Option ID = 17270]
3. 3 [Option ID = 17271]
4. 4 [Option ID = 17272]

61)
Which of the following are hormonal contraceptives?

A, Oral Pills

B, Candaom

C. Injectible

D.IUD

Choose the correct answer from the options given below:

1.4 and B enly
2. A Band Conly
3,Band D only
4 A Cand D anly



PRl # 8 & 8 THRRIYE arHiE ded
A. @ el Tierdi

B.H3H

C. A Al

D. 315, 4.3,

74 T4 7 f9eped] 5 & Wel STR 4 ;

1. Paa A HTB
2, FFAA,BARC
3, FIAB ARD
4,FFAA CHRD

[Question ID = 4319][Question Description = 161_15_PPS_SEP22_S2_Q61]
1. 1 [Option ID = 17273]
2. 2 [Option ID = 17274]
3. 3 [Option ID = 17275]
4. 4 [Option ID = 17276]

62)
Which among the following variables are discrete variables?

A, Number of children a woman has

B. Income of a persan

C. Age of an individual

D. Numbers on the faces of a dice

E. Weight of babies at birth

Choose the correct answer from the options given below;

1.B and Eonly
2.B and Conly
3. A and D anly
4, Cand Eonly



e ¥ & ST W e 7

A, Tl afeer & o= B HEA

8. foddl sfea @t oy

c. et aofda &1 amg

D. o4l aTe & ol @1 9=

E. O & YAy 9] &1 99

74 T4 7 f9eped] 5 & Wel STR 4 ;

1. PaA B ARE
2. FaAR ARC
3, HIAA XD
4, FIACHARE

[Question ID = 4320][Question Description = 162_15_PPS_SEP22_S2_Q62]
1. 1 [Option ID = 17277]
2. 2 [Option ID = 17278]
3. 3 [Option ID = 17279]
4. 4 [Option ID = 17280]

°) Which of the fallowing are measures of association betiveen two nominal scale variables?
A, Phi coefficient
B. Spearman's correlation coefficient
C. Pearson's correlation coefficient
D. Crammier's V
E. Standard deviation

Choose the correct answer from the options given below:;

1. B only

2.Cand Eonly
3, B and Conly
4 Aand D anly



T A1 A19H] 911 & He 9E9H & U & ;

A, TS T[0T

B. TG &1 e 4ay oT®

C. 4Ig79 &1 98 999 Uid

D. R @V
. qH® aga

2 g el 6 e SO

1.haa B

2. BaaC ARE
3, Baa B R C
4. PTTA ARD

[Question ID = 4321][Question Description = 163_15_PPS_SEP22_S2_Qé63]

1. 1 [Option ID = 17281]
2. 2 [Option ID = 17282]
3. 3 [Option ID = 17283]
4. 4 [Option ID = 17284]

64)

Match List | with List Il

List |

List Il

A. Kingsley Davis

I. Natural and political observations made upon the bills of mortality

B. Sir William Petty

Il. Political arithmetic

C. Karr Sunders

lIl. The population problem

D. Jehn Graunt

IV. The population of India and Pakistan

Choose the correct answer from the options given below:

TLA-IV,B-ILC-IIl,D-|
2ZA-WB-LC-ILD-1IV
3A-ILB-ULE-IV,D-]|

4A-B-IV,C

-HLB-




Tl - I T -1 T A DI :

EE T -1l
: 1. FEXE UUS Uifiedd Aewas 98 UM § e 1
A, T Sfag MEA
A | et sRuies
CHRYSY |1 T UTEE Wy
D.EAAE  |Iv. UTHEEH SAIF 31Sd §s UiidedH

e TGu e fasedl # ¥ 95l St g

LA-IV,B-ll,E-IN, D-I
ZA-M,B-1,C-1l, B-IV
3LA-I,B-11,CE-IV, D-1I
4A-1,B-IV,C-l1, B-1

[Question ID = 4322][Question Description = 164_15_PPS_SEP22_S2_Qé64]
1. 1 [Option ID = 17285]
2. 2 [Option ID = 17286]
3. 3 [Option ID = 17287]
4. 4 [Option ID = 17288]

65)
Match List | with List 11
List| List Il
A. Population size 1. Verbal Autopsy
B. Life table Il. Civil Registration System
. Causes of death lll. Sample Registration System
D. Birth and death registration |IV. Census

Choose the correct answer from the options given below:

TA-LB-I,C-Iv, D=1
2ZA-WLB-ILC-LD-IV
A-IV,B-I,C-,D-1l
4 A-WB-LC-1LD-1



Tl - I T -1 T A DI :

EE = -0l

A. SEHE] HIBR I HifE® 9g uiien

8. Wiia driera! I1. AT Ui Tt
C. g & &R 1, sfcreet defieor wome
D. 54 3R §eg Uelieszn IV, ST

91 fGu e fawed! H 4 9el I gL :

LA-ILB-II,C-W, D-1
2ZA-1,B-1,E-), D-IV
3A-W,B-IN,C-1, D-1I
4A-IW, B-1,C-1l, D-UI

[Question ID = 4323][Question Description = 165_15_PPS_SEP22_S2_Q65]
1. 1 [Option ID = 17289]
2. 2 [Option ID = 17290]
3. 3 [Option ID = 17291]
4. 4 [Option ID = 17292]

66)
Match List | with List 11

List 1 List Il

A, t-test I. Categorical 2 groups independent

B. Unpaired t-test  |Il. @ne group (numeric)

. One way ANGVA Il Two groups independent {numeric)

D. Chi-squared test |IV. More than two groups (numeric)

Choose the correct answer from the options given below:

TA-L,B-1L,E-B-IV
ZA-ILB-NLC-IV,D-|
LA-WLB-WV, C-,.D-1I
4A-IV,B-IL,C-1L,D-1I

i -| ] ! -1l gHled B :

g - =T -l

AT - gdigm 1. SoffaR 2 T8 oA

8. -7 odgm Il T THg (H3ET®)

. U@ g gE 111 & S Wdd (=)
D. TS - WS THIem Iv. & T O ifw (deTi|)
rd fGu e famed! # ¥ 95l S gL

TLA-I,B-I,C-1l, D-IV
ZA-N,B-L,E-IV, B-I
LA-L,B-IV,C-1, D-I
4.0V, B-|,C-ll, D-1



[Question ID = 4324][Question Description = 166_15_PPS_SEP22_S2_Q66]
1. 1 [Option ID = 17293]
2. 2 [Option ID = 17294]
3. 3 [Option ID = 17295]
4. 4 [Option ID = 17296]

67)
Match List | with List 11

List 1 List 1l
A. Probability of surviving from age % to age y L Lty
B. Number of people dying between agesxand y 11 T,

C. Number of person years lived between ages x and y |lIl. T,-T,

D. Person years lived above age x IV. /1y

Choose the correct answer from the options given below:

T.A-W,B-LC-I1,D-1V
ZA-ILB-IV,C-1Il,D-|
ILA-LB-INC-IV,D-1l
4A-IV,B-IL,C-U,D-

i -| ] ! -1l gHled B :

g - -1l
A S X E A Y d% 3o} Siidl T drel @l Wil L le-ly
B.X AN Y 3T & T8 g3 Gt a0 @ 9. 1. T,

C. % 3Ry g & 5 Sifad 8 T & 9= T, - T,
D. X 3 Y 3 911 TP Sliiad Tel e V. ly/ly
rd fGu e famed! # ¥ 95l S gL

T.A-W,B-1,C-1l, D-IV
ZA-N,B-W,E-Ill, B-I
3A-1,B-1,C-Iv, D-Il
4.A8-IV,B-|,C-1lI, D-1I

[Question ID = 4325][Question Description = 167_15_PPS_SEP22_S2_Q67]
1. 1 [Option ID = 17297]
2. 2 [Option ID = 17298]
3. 3 [Option ID = 17299]
4. 4 [Option ID = 17300]



68)
Match List | with List Il

List | List Il
A. Ravenstein I. Mobility transition
B. Evertt Lee II. Intervening abstacles

. Wilbur Zelinskey |lIl. Intervening opportunities

D. Samuel Stauffer |IV. Law of Migration

Choose the correct answer from the options given below;

LA-IV,B-ILC-L,D-1l
ZA-L,B-INC-ILD-1V
3LA-LB-WC-1UL,D-1
4A-IV,B-LC-1L,D-1I

Tl -1 Il -1 H AT @l -

T - Tl -l

A, aafeA 1. TTcRieral S@a
B.gae ol I1. 3 ST

C. faea ifdit 1], AR HTER
D. TS IHT V. S @1 e
T4 G fowed! # § 9 s I

TA-IWV,B-ll,C-1, D-1lI
ZA-1,B-,C-1l, D-WV
LA-I,B-INV,€-ln, B-II
4A-IV,B-1,C-1, D-1

[Question ID = 4326][Question Description = 168_15_PPS_SEP22_S2_Qé68]
1. 1 [Option ID = 17301]
2. 2 [Option ID = 17302]
3. 3 [Option ID = 17303]
4. 4 [Option ID = 17304]

69)
Match List | with List 11
List| List I
A. Homer Hoyt I. Multiple Nuclei Model
B. Burgess Il. Sectar Medel

. Harris and Ullman |IIl. Cycle of urbanisation

D. Kingsley Davis IV, Concentric Zone model

Choose the correct answer from the options given belaw:

TA-WLB-V,E-LL,B-1I
2A-1LB-ILE-B-1
A-ILB-ILE-IV,D-]|
4.8 -1LB-ILC-1,D-IV



Tl - I T -1 T A DI :

EE =l

A BRI BIUE | SE-gEe WY
B S II. &7 ey

c. 2R 3R SeH . T 9
D. fhradt Sfaw V. Sl WRe
Fd o e fowed! & 9 S o g

LA-II,B-IV,C-|, D-
2ZA-I,B-Il,C-W, D-10
3LA-I,B-I,E-IV, B-I
4A-,B-I1,E-)| D-IV

[Question ID = 4327][Question Description = 169_15_PPS_SEP22_S2_Q69]
1. 1 [Option ID = 17305]
2. 2 [Option ID = 17306]
3. 3 [Option ID = 17307]
4. 4 [Option ID = 17308]

70)
IMatch List | with List 11
List 1 List 11
A. Dual labour market theory I. Gunnar Myrdal
B. Cumulative causation Il. Piere
. Expected destination earnings IIl. Stark
D. Household economics af migration (IV. Michale Todaro

Choose the correct answer from the options given below:

TA-ILB-IL,C-IV,D-|
ZA-ILB-LC-NB-
3LA-IB-LC-IL,D-V
4A-VB-ILC-LD-Ill

i -| ] ! -1l gHled B :

g - -l

A. Te-em aoR sl I R S

B, S0 BEEGT i1, g

C. HHIT 1&g 3UTeiA Iif. T

D. TawH @ Teedl HEEa IV, AT5%d erSRl
rd fGu e famed! # ¥ 95l S gL

T.A-H,B-1l,E-IV, B-I
ZA-I,B-1,CE-N, D-1
3A-W,B-1,C-ll, D-IV
4A-IVB-1Il,C-1, D=1



[Question ID = 4328][Question Description = 170_15_PPS_SEP22_S2_Q70]
1. 1 [Option ID = 17309]
2. 2 [Option ID = 17310]
3. 3 [Option ID = 17311]
4. 4[Option ID = 17312]

71)
Match List | with List 11

List 1 List 11

A. Inverted U shape Graph I Gro Harlem Brundtland
B. Sustainable Development Il. Andrew Goudle

. The Strategy of Ecenomic Development . Simon’ Kuznets

D. The Human Impact on the Natural Environment (IV. Albert O, Hirschman

Choose the correct answer from the options given below:

TLA-L,B-IW,C-1L,D-1
ZA-W,B-LC-IV,D-Il
3LA-WV,B-LC-L,D-1
4A-B-LC-ILD-IV

i -| ] ! -1l gHled B :

{Eﬂ'l -1l

A T IHd 4 DR 9TH 1. 91 i gedis
B. YROTY faarg I TSg e

c. it fawg &1 gie [1]. TTEHT Ho-eH
D. Wi Jramase] I AHa ™ qyE Iv. Sfcae 3. g2aT
rd fGu e famed! # ¥ 95l S gL

TLA-I,B-IV,C-Il D-11I
2ZA-1,B-1,C-Iv, B-Il
LA-IV,B-l,€-1, B-1I
4.8 -11,B-1,C-1l, D-IV

[Question ID = 4329][Question Description = 171_15_PPS_SEP22_S2_Q71]
1. 1 [Option ID = 17313]
2. 2 [Option ID = 17314]
3. 3 [Option ID = 17315]
4. 4 [Option ID = 17316]



72)
Match List | with List Il

List | List Il

4. The Envirenment (Protection) Act, India |I. 2002

B. The Forest Conservation Act, India 11, 1827
C. The Indian Forest Act 1. 1280
D. The Biological Diversity Act India IV. 1986

Choose the correct answer from the options given below;

TLA-LB-1L,C-IM,DB-1
ZA-L,B-INC-ILD-1V
3LA-W,B-II,LC-1Il,D-|
4A-LB-LLC-IV,D-Il

i - ] Il -1l 4 gHied Bifo ;

T - T -l

A, HRE @] TaTaw (@am) e . 2002

8. HIRd @I a4 HI&0 3ffeiay II. 1927
c. YReg g sfafTe 111, 1980
D. YIRd @1 uid fafasar Afu-=ag IV, 1986
7 fou e fawed! & 9 98 S gL

LA-IL,B-IlL,C-N, D-1ll
2ZA-1,B-,C-ll, D-IV
LA-WV,B-IN,C-1l, D-|
4.A-11,B-1,C-Iv, B-Il

[Question ID = 4330][Question Description = 172_15_PPS_SEP22_S2_Q72]
1. 1 [Option ID = 17317]
2. 2 [Option ID = 17318]
3. 3 [Option ID = 17319]
4. 4 [Option ID = 17320]

73)
Match List | with List 1l

List1 List Il

A, Mudaliar Committee ||, Introduction of Multipurpose warkers scheme

B. Chadha Committee Il. Constitution of All India Health Services

iZ. Kartar Singh Committee|lll. Delink Family Planning activities with other activities

D. Mukherji Committee  |IV. Integration of vertical programme at all levels

Choose the correct answer from the options given belaw:

TA-WB-ILC-,D-IV
ZA-LB-I,E-M,D-1V
A-ILB-LC-IME-1
4 A8-1,B-IV,C-1l,D-1|



i -| ] ! -1l gHled B :

g - B[

A. TRftar 9fafy || sgaafig el el & GrRiTgl

B.aSel O | HfEE YR TRy Tars 1 7ed

c. ®wwRr Rl 0 sead 4 IRaR Foed sEead o
BIEIGS HEE

D. q@e O |Iv, G ®RI & SEER ST 3T THiH

7 fGu e fawed! & 9 98 S gL

LA-W,B-I,E-I| D-IV
2ZA-1,B-Il,C-Il, D-IV
A-IL,B-1,E-V, D-1I
4A-1,B-IV, C-1l, D-1

[Question ID = 4331][Question Description = 173_15_PPS_SEP22_S2_Q73]
1. 1 [Option ID = 17321]
2. 2 [Option ID = 17322]
3. 3 [Option ID = 17323]
4. 4 [Option ID = 17324]

74)
Match List | with List 11
List| List Il
A. data of different time pericd I. pocled data
B. data collected at the same point in time Il. panel data
. data of the same cross-section over time Il time series data
D. data having elements of both time series-and crass-section |IV. cross-section data

Choose the correct answer from the options given below:

TLA-IV,B-ILC-L,B-1
2ZA-IL,B-l,C-,D-1V
3A-L,B-N,C-IV,D-1l
4. A-1LB-IV,C-1l,D-|



Tl - I T -1 T A DI :

EE =7 -1l

A, T gHg 919 31eT I. §58 SIel

B. gHF gHUEl H usiad S1el I1. §re B1eT

C. AT URESE SHTHHE ST 111, THG 5 SIeT
D. Y94 4@ U9 WY URwde oAl o dal gV, U OR=se
I STel STl

rd fGu e famed! # ¥ 95l S gL

TLA-W,B-ll, -1 D-U
ZA-I,B-1,C-, D-WV
3A-1,B-1,C-Iv, D-Il
4.A-1,B-IV,C-1l, D-I

[Question ID = 4332][Question Description = 174_15_PPS_SEP22_S2_Q74]
1. 1 [Option ID = 17325]
2. 2 [Option ID = 17326]
3. 3 [Option ID = 17327]
4. 4 [Option ID = 17328]

75)
The following major diseases are covered by the 'Special Survey of Causes of Deaths Report 2010-12
under the Sample Registration System using the Verbal Autopsy are given below. Arrange these diseases

among children less than 29 days in descending order (higher to lower) as per their percentage in total
deaths

A. Prematurity and low birth weight

B. Birth asphyxia and birth trauma

C. Congenital anomalies

D. Mecnatal pneumonia

E. Sepsis

Choose the correct answer from the options given below

1.A,BDEC
2Z2ABCDE
3.48DCE
4ABCED



HIfGe @ T4 BT 3540 $id g¢ UesE 9eig- WOl & ST Aral & SRl ®1 39N gaem Ruie
2010-13 BRI $& [0 T 754 7 14 GU T | 20 G 4 &9 95 & 9= & ©a Adl 4 34 U701 § o gl
il & Ui 1 Sfailel $H (G ¥ ) H 3 :

A B0 8 5 3R 5 & 990 ©H 99

B, 7 t §HY YTHRI 3R A

C. S [APR

D. T RIS @1 [Ag 35 8

£, Oty

Fe fgu T Aol B W S O ;

1.A, B D EC
248 BCDE
3.ABDCE
4ABCED

[Question ID = 4333][Question Description = 175_15_PPS_SEP22_S2_Q75]
1. 1 [Option ID = 17329]
2. 2 [Option ID = 17330]
3. 3 [Option ID = 17331]
4. 4 [Option ID = 17332]

7o) As per the Papulation Census of India, arrange the following Census years in decreasing order (higher to
lower) of Sex-ratio
A,7807
B. 1911
C. 1927
D, 1941
E 1931

Choose the correct answer from the options given below

1.ABDEC
2ABCDODE
3.ABDCE
4 ABCED



HIRT B T & STER FRREa s aul &1 G @ Ued 59 9 9
A. 1901

B. 1911

C, 1921

D. 1941

E, 1931

e fu e fowed! 9 4 W S T ;

1.ABDEC
2ABCDE
3.ABDCE
4ABCED

[Question ID = 4334][Question Description = 176_15_PPS_SEP22_S2_Q76]
1. 1 [Option ID = 17333]
2. 2 [Option ID = 17334]
3. 3 [Option ID = 17335]
4. 4 [Option ID = 17336]

77)
Select the order of sampling scheme from best to worst.

A, Simple Random Sampling

B. Stratified Sampling

C. Convenience Sampling

D. Quota Sampling

Choose the correct answer from the options given below

ABCD
D,B A C
JC&DE
LGB AD

B S T S R

AP P § WY T Wiaayd Fe-13 & H Bl 98 Sifeg ;
A, GIYRY grefs® dfdea

B, Tild Hidagd

C. giauTsie Widgg-

D. el HidggH

74 TG U faed] 5 § 98l 3R 9 ;

1.ABCD
2.D0,B,AC
3.CADE
4CBAD



[Question ID = 4335][Question Description = 177_15_PPS_SEP22_S2_Q77]
1. 1 [Option ID = 17337]
2. 2 [Option ID = 17338]
3. 3 [Option ID = 17339]
4. 4 [Option ID = 17340]

78)
Arrange the following programmes in chronological order (starting from the first) in terms of their
implementation,

A, Pradhan Mantri Ujjwala Yojana

B. Beti Bachao Beti Padhao Scheme

C. Indira Gandhi Matritva Sahyog Yojana

D. Janani Suraksha Yojana

Choose the correct answer from the options given below

ABCD
O, CB A
DB A
LD AE

a0 DR -

Fafofad e @ 39d PE-agd ® Yol & FOpaIuR (WYH 9 URY 3 §U) aieyd @i ;
A. T H:Al Iwraen QieH

C. 3ig=1 e} \nigea | g

D. ST Y&l gre]

i g 7 faded] & & W8l 3w g9 -

1.ABCD
20,CB A
3.CODB A
4 C D AE

[Question ID = 4336][Question Description = 178_15_PPS_SEP22_S2_Q78]
1. 1 [Option ID = 17341]
2. 2 [Option ID = 17342]
3. 3 [Option ID = 17343]
4. 4 [Option ID = 17344]



79)
Arranige the following countries according to their rank of Human Developmient Index in ascending order
(lower to higher) as per Human Development Report 2020
A, India

B. Pakistan

C. Sri Lanka

D, Nepal

Choose the correct answer from the options given below

1.ABCD
2.CADE
3.ACBD
4 8B,CAD

A9 fa@TE RUiE 2020 & SFUR FEEd 91 ®1 3d Hd [G01¥ Yobis & 964 H 3] 1§ 3
HRIE! B4 H Haftd St ;

A, HRd

B, OTfp &t

C. Hied1

D. JUrE

7d fou 7Te faped] 4 § U8 Sw g ;

1.ABCD
2.CADEB
3.ACBD
4B, AD

[Question ID = 4337][Question Description = 179_15_PPS_SEP22_S2_Q79]
1. 1 [Option ID = 17345]
2. 2 [Option ID = 17346]
3. 3 [Option ID = 17347]
4. 4 [Option ID = 17348]



80)
Arrange the following countries in descending (higher to lower) order according to their percentage
share in global carbon dioxide emission according te US Department of Energy in 2014
A, United States of America

B. China
C. India
D. lapan
Choose the correct answer from the gptions given below

1.ABCD
24 CEBED
3.0,4 B C
4B ACD

Y 2014 H @@ e [3ur & 18R FEiEd 3 91 3%F T SEoeaEs & et § 99
g oed & g5y & it 79 (0= © 9y 7o) & ey sife:

A, Hgad Tod SHST

B. ™

C. ¥Rd

D. WIaH

i< fgu ¢ fased| 5 9 W6l Swe 9 -

1.ABCD
2ACBEBD
3.0,4A B C
4B, ACD

[Question ID = 4338][Question Description = 180_15_PPS_SEP22_S2_Q80]
1. 1 [Option ID = 17349]
2. 2 [Option ID = 17350]
3. 3 [Option ID = 17351]
4. 4 [Option ID = 17352]



81)
Arranige following States in ascending order (lower to higher) in respect of their SDG Index for the year
2020-21 published by the NITI Aayog:
A, Bihar

B. Uttar Pradesh

C. Rajasthan

D, Odisha

E. West Bengal

Choose the correct answer from the options given below

1.8ACDE
2ABCDODE
3.8BADCE
48, ADEC

Frafaiad real @1 i SR &R ay 2020 - 21 & (G WG 34 TH, 3. 5. Ga@ie © uaH H HRie!
F9 (M9 ¥ 3= dm) © aieyg sl :
A TER

B. TR Wadl

C. M

D. 3fifEam

E. Gf%H &

74 fau 7TC fasped! 3 9 we) Sw g ;

1.B,ACDE
2ABCDE
3.8ADCE
4B ADEC

[Question ID = 4339][Question Description = 181_15_PPS_SEP22_S2_Q81]
1. 1 [Option ID = 17353]
2. 2 [Option ID = 17354]
3. 3 [Option ID = 17355]
4. 4 [Option ID = 17356]



82)
Arranige the following programmes in chronolegical order (starting from the first) in terms of their

implementation
A, Canversion from family planning programme to family welfare programme

B. Universal immunization programme

C. Child survival and safe motherhood

D. Expanded programme of immunization

E. Reproductive and child health programme

Choose the correct answer from the options given below

1.A,DBCE
2AEDEC
3.8 D ACE
4.0,CEAEB

Ffofed aredl @ 990 oM-aad & 4o § SaeadaR (WYH 4 TR §iXd g9) Haied @ifg ;
A, aiaR e © ofivar s srEea | aiads

B. HIAHIHS didTeiu hiHH

C. 919 Susiiagal SR QRi&d Argd
D. faeariva Sy mrieH

E. 57 U4 STl e S H

7d fou 7Te faped] 4 § U8 Sw g ;

1.A D BCE
2AEDBC
3.8 DACE
4.0,CEAB

[Question ID = 4340][Question Description = 182_15_PPS_SEP22_S2_Q82]
1. 1 [Option ID = 17357]
2. 2 [Option ID = 17358]
3. 3 [Option ID = 17359]
4. 4 [Option ID = 17360]



83)
Arranige the followirig States in deseending order (higher to lower) according to their IMR as per the SRS

2078 data
A, Assam

B. Gujarat

C. Tamil Nadu

D, Madhya Pradesh

E. West Bengal

Choose the correct answer from the options given below

1.8ACDE
2ACEDEB
3.0,A B EC
4D, EBAC

TH. 3. UF. 2018 F 3iHa! & SR FEfafad ol ® 3@ o3, U4, 313, & & & 3@ 50 Jailel 59
(= 9 3 o%) & o sife .

A HEH

8. oI

C. dffeErg

D. A FEHl

£, UigH g

i< fou e faded! 4 4 we) 9w g ;
1.8,A,C.D,E
2.ACED,B

3.0,A B EC
4D EBAC

[Question ID = 4341][Question Description = 183_15_PPS_SEP22_S2_Q83]
1. 1 [Option ID = 17361]
2. 2 [Option ID = 17362]
3. 3 [Option ID = 17363]
4. 4 [Option ID = 17364]



84)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The proportion of the world population aged above 60 years is increasing
Reason R : Expectation of life is increasing due to declining mortality in the world
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

el @ RU g to of iy (A) IR g0 & ®RY (R) FET M@ ¢
Hfimy (a): Gy o dEn H 60 a6 SR @ S I & UG & I Bl el 8
@l (R): Ay H o @ Bl Sl gR S eru Sied g H aiE S 8
ST BYF| & TS & Hiied aeed 3 4 98 9w g ;

1.A SR R &I HE1 8 3R R, A I 98| DA 8

2. A 3R R GFf 981 § T R, A B Je! AT el g

LAY WAR I &
4. A HGH g, R AT

[Question ID = 4342][Question Description = 184_15_PPS_SEP22_S2_Q84]
1. 1 [Option ID = 17365]
2. 2 [Option ID = 17366]
3. 3 [Option ID = 17367]
4. 4 [Option ID = 17368]

85)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : A large value of the standard deviation is observed in the data on weight collected from
class X'students of a School

Reason R ; It indicates more spread in the data set and the data peints tend to away from the mean valus
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are frue but R is NOT the carrect explanation of A
3, Ais true but R is false

4, Ais false but R is true



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B

STB (a) : U ST ©1 B&T X & Ganidl § Sufed Sies § 799 fHga- ged 9F Hied o
TR (R) ; T6 @] 9g=d 1§ A4S WOR @ Sovd 4dl & AN HDgl [6G AT © G 6 @] 4ad &
ST HYA| P AT 1 Hiea [aeed 1 ° Hel g g1 ;

1.A AR RGHI 981 & AN R, A Tg] SArEA B

2.A IR RGFl 981 & U R, A ®1 Uel oATed el 6|
3.ATTE TQRITI &l

4 A HGHE, R YT B

[Question ID = 4343][Question Description = 185_15_PPS_SEP22_S2_Q85]
1. 1 [Option ID = 17369]
2. 2 [Option ID = 17370]
3. 3 [Option ID = 17371]
4. 4 [Option ID = 17372]

86)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The rate of cesarean deliveries increased almost 7-fold from the NFHS-1 (1992-1293) to
the NFHS-4 (2015-2016).

Reason R : This rising trend in C-section rates cannot be explained by medical reasons alone.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are frue but R is NOT the carrect explanation of A
3, Ais true but R is false

4 A is false but Ris true

Tl Ty Rum g ; @ o i@y (A) 3R G0 @ BRI (R) Fel ™ el

HFUGYT (A) : NFHS- (1992-1993) ¥ NFHS-4 (2015-16)F A9 ey feg UGal ®f &3 8 @R 741
CIERE

HRU (R) : U GUS &3] (Ved iy 99a) H 9gal g3 Waid ol 4E [ideiy SRl 4 98] GHSR o 9l
Bl

Il DYH| & D H FHiidd jaacdl H 4 ¥8l 3 g ;

1.A IR RGHI 98l & SRR, A DI Gg| I 8

2. A 3R R EFT 981 § TR R, A B Je! AT el o
3.AUYE WORIATT 6l

4ANTIE RARII 6!

[Question ID = 4344][Question Description = 186_15_PPS_SEP22_S2_Q86]
1. 1 [Option ID = 17373]
2. 2 [Option ID = 17374]
3. 3 [Option ID = 17375]
4. 4 [Option ID = 17376]



87)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Migration from rural areas leads to a skewed sex ratio with excess females at the origin
Reason R : In most of the cases male migrates out in search of livelihood
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

ST (A) : THIU &1 § HaEH, 99 Oed fdg 01 Hfge onfuey ard f[a9E UeH & 7 Sigud &1 S UiRd
FT

TR (R) ; A Rl o oreiifgm) @1 B9 F 05 a6t WA &d ol

e DY P AP d FEfed faeed H U TE SR 9

1.A 3R R GHI 981 & AR R, ADI o] A1 8l

2.A 3R R G TE1 € U R, A BT Ul TSl el &
3.AUdE U R FHT B

4AFIE RARTI 6!

[Question ID = 4345][Question Description = 187_15_PPS_SEP22_S2_Q87]
1. 1 [Option ID = 17377]
2. 2 [Option ID = 17378]
3. 3 [Option ID = 17379]
4. 4 [Option ID = 17380]

88)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Men sterilization rate in ndia is as low as less than one percent as per NFHS-4
Reason R ; Low male sterilization is due to non-availability of gquality health care in India.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation-of A

2, Both A and R are true but R is NOT the carrect explanation of A
3. A is true but R is false

4, Ais false but R is true
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[Question ID = 4346][Question Description = 188_15_PPS_SEP22_S2_Q88]
1. 1 [Option ID = 17381]
2. 2 [Option ID = 17382]
3. 3 [Option ID = 17383]
4. 4 [Option ID = 17384]

89)
Given below are two statements

Statement |: Spousal viclence to women increases as husband's frequency of drinking alcohol increases

Statement Il As education of wemen increases; mostly physical, sexual and emotional violence
decreases

In light of the above statements, choose the most appropriate answer from the options-given below

1. Both Statement | and Statement Il are correct

2, Bath Statement | and Statement |l are incorrect

3. Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct
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HgiE Bl 2l

BYF (1) : OF - 99 Algarel @1 e H g Bni 8 39 - 39 S5y INiRe, dfe [@Eem) SR
yiaTES feqr § @41 gl gl

Il DYH| & D H FHiidd jaacdl H 4 ¥8l 3 g ;

1. ®Y | 3R (1 S wE B
2. YT | R | GF a8l
3.9y |9 ¢, [dg ®yd 1o & |
4, T | T &, g oY 1 a8 B

[Question ID = 4347][Question Description = 189_15_PPS_SEP22_S2_Q89]
1. 1 [Option ID = 17385]
2. 2 [Option ID = 17386]
3. 3 [Option ID = 17387]
4. 4 [Option ID = 17388]



90)
Given below are two statements

Statement |: The gender development index (GDI) measures average achisvement in healthy life,
knowledge and a decent standard of living, after adjusting inequalities between men and women

Statement Il: GDI captures all dimensions that are captured in Human Development Index
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect

3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 4348][Question Description = 190_15_PPS_SEP22_S2_Q90]
1. 1 [Option ID = 17389]
2. 2 [Option ID = 17390]
3. 3 [Option ID = 17391]
4. 4 [Option ID = 17392]

Topic:- 015_PARTB_S2



1) The ubiguity of domestic violence (DV) can be gauged from the fact that it has been documented in
different cultures and societies all over the world, There is growing awareness that DV is a global
phenemencn and is a serious issue in developing countries as well. Nevertheless, DV shows particular forms
and patterns: depending on the lscal context and recognized as an important public health problem.
Despite the range of abuse, it is the most commen cause of nonfatal injury te women, who suffer, blame
themselves, and choose not to report it. In fact, often rationalize and internalized the abuse by believing
that the act was provoked by the women, therefore, justify and accept it as their fate, to continue living with
it. The substantial consequence for waomen's physical, mental, and reproductive health and ultimately the
risk of death from DV is also reported to be high, which is committed by a spouse or partner.

Various studies from South Asian countries on DV have identified a number of asspgiated: individual and
household level risk factors which shows that certain demographic facters such as age, number of living
male children, and living in extended family have an association with DV. Ameng the protective factors
identified in developing countries are higher socioeconomic status, women's ecenomic independence,
quality of marital relationships, and higher levels of education among women. The risk of spousal violence
against wemen is globally known to be higher among women who are younger, have a lower household
income, less educated, belenging fo lower caste, nonworking wemen, partner who drinks/bets, etc
However, the issue of DV and its underlying social determinants of DV in developing countries remain
limited especially in the context of India,

Source: Indian ) Community Med. 2012 Jul-Sep; 37{3): 153-157
In which part of the world domestic violence is confined?

1. Developed countries

2. Developing countries

3. All over the world

4. Nothing can be said with certanity
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[Question ID = 4349][Question Description = 191_15_PPS_SEP22_S2_Q91]
1. 1 [Option ID = 17393]
2. 2 [Option ID = 17394]
3. 3 [Option ID = 17395]
4. 4 [Option ID = 17396]




2) The ubiquity of domestic violence (DV) can be gauged from the fact that it has been documented in
different cultures and societies all over the world, There is growing awareness that DV is a global
phenemencn and is a serious issue in developing countries as well. Nevertheless, DV shows particular forms
and patterns: depending on the lscal context and recognized as an important public health problem.
Despite the range of abuse, it is the most commen cause of nonfatal injury te women, who suffer, blame
themselves, and choose not to report it. In fact, often rationalize and internalized the abuse by believing
that the act was provoked by the women, therefore, justify and accept it as their fate, to continue living with
it. The substantial consequence for waomen's physical, mental, and reproductive health and ultimately the
risk of death from DV is also reported to be high, which is committed by a spouse or partner.

Various studies from South Asian countries on DV have identified a number of asspgiated: individual and
household level risk factors which shows that certain demographic facters such as age, number of living
male children, and living in extended family have an association with DV. Ameng the protective factors
identified in developing countries are higher socioeconomic status, women's ecenomic independence,
quality of marital relationships, and higher levels of education among women. The risk of spousal violence
against wemen is globally known to be higher among women who are younger, have a lower household
income, less educated, belenging fo lower caste, nonworking wemen, partner who drinks/bets, etc
However, the issue of DV and its underlying social determinants of DV in developing countries remain
limited especially in the context of India,

Source: Indian ) Community Med. 2012 Jul-Sep; 37{3): 153-157

Despite the range of abuse borne by women, aften they;

1. Cheose to take help from the law authorities

2. Choose niot to report it and accept it as their fate

3. Go to the hospital for treatment and deny it as domestic violence
4, Try to settle in family and community
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[Question ID = 4350][Question Description = 192_15_PPS_SEP22_S2_Q92]
1. 1 [Option ID = 17397]
2. 2 [Option ID = 17398]
3. 3 [Option ID = 17399]
4. 4 [Option ID = 17400]



3) The ubiquity' of domestic violence (DV) can be gauged from the fact that it has been documented in
different cultures and societies all over the world, There is growing awareness that DV is a global
phenemencn and is a serious issue in developing countries as well. Nevertheless, DV shows particular forms
and patterns: depending on the local context and recognized as an important public health problem.
Despite the range of abuse, it is the most commen cause of nonfatal injury to women, who suffer, blame
themselves, and choose not to report it. In fact, often rationalize and internalized the abuse by believing
that the act was provoked by the women, therefore, justify'and accept it as their fate, to continue living with
it. The substantial consequence for women's physical, mental, and reproductive health and ultimately the
risk of death from DV is also reported to be high, which is committed by a spouse or partner.

Various studies from South Asian countries on DV have identified a number D:f asspgiated individual and
holsehold level risk factors which shows that certain demographic factors such as age, number of living
male children, and living in extended family have an association with DV. Ameng the protective factors
identified in developing countries are higher socioeconomic status, women's ecenomic independence,
quality of marital relationships, and higher levels of education among women. The risk of spousal violence
against women is globally known to be higher among women wha are younger, have a lower household
income, less educated, belenging to lower caste, nonworking wemen, partner who drinks/bets, etc
However, the issue of DV and its underlying social determinants of DV in developing countries remain
limited especially in the context of India,

Source: Indian J Community Med. 2012 Jul-Sep; 37{3): 153-157

What are individual and household level risk factors?

1. Age, number of living male children, and living in extended family associated risk factors with DV.
2. Low education among women

3. Unemployment among wemen

4. Low income in the family
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[Question ID = 4351][Question Description = 193_15_PPS_SEP22_S2_Q93]
1. 1 [Option ID = 17401]
2. 2 [Option ID = 17402]
3. 3 [Option ID = 17403]
4. 4 [Option ID = 17404]



4) The ubiguity of domestic violence (DV) can be gauged from the fact that it has been documented in
different cultures and societies all over the world, There is growing awareness that DV is a global
phenemencn and is a serious issue in developing countries as well. Nevertheless, DV shows particular forms
and patterns: depending on the lscal context and recognized as an important public health problem.
Despite the range of abuse, it is the most commen cause of nonfatal injury te women, who suffer, blame
themselves, and choose not to report it. In fact, often rationalize and internalized the abuse by believing
that the act was provoked by the women, therefore, justify and accept it as their fate, to continue living with
it. The substantial consequence for waomen's physical, mental, and reproductive health and ultimately the
risk of death from DV is also reported to be high, which is committed by a spouse or partner.

Various studies from South Asian countries on DV have identified a number of asspgiated: individual and
household level risk factors which shows that certain demographic facters such as age, number of living
male children, and living in extended family have an association with DV. Ameng the protective factors
identified in developing countries are higher socioeconomic status, women's ecenomic independence,
quality of marital relationships, and higher levels of education among women. The risk of spousal violence
against wemen is globally known to be higher among women who are younger, have a lower household
income, less educated, belenging fo lower caste, nonworking wemen, partner who drinks/bets, etc
However, the issue of DV and its underlying social determinants of DV in developing countries remain
limited especially in the context of India,

Source: Indian ) Community Med. 2012 Jul-Sep; 37{3): 153-157

What are the protective factors against domestic violence?

1. Laws against domestic violence in the country

2. Higher sociceconomic status; women's economic independence, quality of marital relationship, and
higher levels of education among women

3. Husband's higherincome

4. Living in & nuclear family
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1. 1 [Option ID = 17405]
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5) The ubiquity of domestic violence (DV) can be gauged from the fact that it has been documented in
different cultures and societies all over the world, There is growing awareness that DV is a global
phenemencn and is a serious issue in developing countries as well. Nevertheless, DV shows particular forms
and patterns: depending on the lscal context and recognized as an important public health problem.
Despite the range of abuse, it is the most commen cause of nonfatal injury te women, who suffer, blame
themselves, and choose not to report it. In fact, often rationalize and internalized the abuse by believing
that the act was provoked by the women, therefore, justify and accept it as their fate, to continue living with
it. The substantial consequence for waomen's physical, mental, and reproductive health and ultimately the
risk of death from DV is also reported to be high, which is committed by a spouse or partner.

Various studies from South Asian countries on DV have identified a number of asspgiated: individual and
household level risk factors which shows that certain demographic facters such as age, number of living
male children, and living in extended family have an association with DV. Ameng the protective factors
identified in developing countries are higher socioeconomic status, women's ecenomic independence,
quality of marital relationships, and higher levels of education among women. The risk of spousal violence
against wemen is globally known to be higher among women who are younger, have a lower household
income, less educated, belenging fo lower caste, nonworking wemen, partner who drinks/bets, etc
However, the issue of DV and its underlying social determinants of DV in developing countries remain
limited especially in the context of India,

Source: Indian ) Community Med. 2012 Jul-Sep; 37{3): 153-157

The risk of spousal violence against wornen is higher among:

1. Women who do not have a bank account

2. Women who are not visited by health workers

3. Women belonging to lower castes and whuose partner drinks/bets
4. Womien who are not members of self help groups
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1) The following table shows the death rate per 1000 population by working status of the population of a
given area in the year 2020 and for the Standard Population of any other area in the year 2020,

Death rate
I Total —
e- er
9% Istandard | Currently Employeed |Not in labour force
group . |standard ' '
Papulation )
Population
Death rate Death rate
Populationper 1000|Population|per 1000
population population
17-44 124830 4.65 67987 5.08 20760 3.85
45-64 43857 7.02 27552 549 15108 774
65+ 24370 8.12 3338 8.09 20910 8.18
Total 163157 5.80 98917 56778

Which category of working status has a young population?

1. Currently employed

2. Not in the labour force

3. Both categeries of working status
4, Data is not sufficient to conclude

3 | FAHAES | WA 1,000 B AED TAAF A IR A T~ yfhe aa
T | FEEN | SEET RO HR
SHEE W 1000 F  [@GEEET WUid 1000 HT
TTHET R Y SEHEAT T geg &

17-44] 94930 4565 67987 5.02 20760 385
45:64| 43857 7.02 27592 549 15108 7.74
65+ | 24370 8.12 3338 8.09 20910 818
T 163157 5.80 98917 56778
e R s e d g wgeEn g

1. EAA H AFR H§

2. iR yHmEa Bl

3. B A BT T H 8|

4. T @ [ ofids Waiw el &

[Question ID = 4354][Question Description = 196_15_PPS_SEP22_S2_Q96]
1. 1 [Option ID = 17413]
2. 2 [Option ID = 17414]
3. 3 [Option ID = 17415]
4. 4 [Option ID = 17416]



2) The following table shows the death rate per 1000 population by working status of the population of a
given area in the year 2020 and for the Standard Population of any other area in the year 2020,

Death rate
I Total —
e- er
9% Istandard | Currently Employeed |Not in labour force
group . |standard ' '
Papulation )
Population
Death rate Death rate
Populationper 1000|Population|per 1000
population population
17-44 124830 4.65 67987 5.08 20760 3.85
45-64 43857 7.02 27552 549 15108 774
65+ 24370 8.12 3338 8.09 20910 8.18
Total 163157 5.80 98917 56778

What would be the crude death rate for "currently empleyed” working category per 1000 population?

1.5.25
2.625
3.6.85
4,558
Y | PAHES | WA 1,000 B AP TAAH AITR A Y yftrs 7a
Tl | SEEn | FEHET W g i :
wHEEn  ufd1co0®t [WHEWN uid 1000 B
FAEEI U g & THAEEI WY g X
17-44] 94930 465 67987 5,09 20760 385
45-64| 43857 7.02 27592 6.49 15108 7.74
65+ 24370 8.12 3338 8.09 20910 8.18
Fa 163157 5.80 98917 55778

ufel 1000 @ SR § GHaH 8 USR H & orilie a7 &1 s Se o dE e 2

1-525
2.86.25
3.6.85
4.5.58

[Question ID = 4355][Question Description = 197_15_PPS_SEP22_S2_Q97]
1. 1 [Option ID = 17417]
2. 2 [Option ID = 17418]
3. 3 [Option ID = 17419]
4. 4 [Option ID = 17420]



3) The following table shows the death rate per 1000 population by working status of the population of a
given area in the year 2020 and for the Standard Population of any other area in the year 2020,

Death rate
I Total —
e- er
9% Istandard | Currently Employeed |Not in labour force
group . |standard ' '
Papulation )
Population
Death rate Death rate
Populationper 1000|Population|per 1000
population population
17-44 124830 4.65 67987 5.08 20760 3.85
45-64 43857 7.02 27552 549 15108 774
65+ 24370 8.12 3338 8.09 20910 8.18
Total 163157 5.80 98917 56778

What would be the ags-adjusted death rate for "currently employed” working category per 1000

population?
1.5.10
2.689
3. 535
4.591
Y | FAHES | U 1,000 B AED TAAF A IR A § 7 aftrs aa
Tl | WEEn | WEEl W gy S : _
SEEEN W 1000®  [WEE@N UG 1000 F
TTEE TR g1 & TTESI R 79 X
17-44 94930 4.65 67987 509 20760 385
45-54| 43857 7.02 27592 649 15108 7.74
G5+ 24370 8.12 3338 8.09 20910 818
T | 163157 5.30 98917 56778

FAOH H IR E & S o &1 A-amifed 9o e e 7

1.5.10
2.5.89
3.6.55
4,591

[Question ID = 4356][Question Description = 198_15_PPS_SEP22_S2_Q98]
1. 1 [Option ID = 17421]
2. 2 [Option ID = 17422]
3. 3 [Option ID = 17423]
4. 4 [Option ID = 17424]



4) The following table shows the death rate per 1000 population by working status of the population of a
given area in the year 2020 and for the Standard Population of any other area in the year 2020,

Death rate
I Total —
e- er
9% Istandard | Currently Employeed |Not in labour force
group . |standard ' '
Papulation )
Population
Death rate Death rate
Populationper 1000|Population|per 1000
population population
17-44 124830 4.65 67987 5.08 20760 3.85
45-64 43857 7.02 27552 549 15108 774
65+ 24370 8.12 3338 8.09 20910 8.18
Total 163157 5.80 98917 56778

What would be the standardized maortality ratio for "currently employed” working category population?

1.1.03

2.124

3.234

4,1.98
3 | FAAET | U 1,000 T AFE FTAAF A IR A § 7 afte a9
T | wEEn | STeen WHY : :

SEEE W 1000 @ [@EE®@N UG 1000 F
FTEET T g & TTES T J &

1744 24930 4.65 67987 5.09 20760 385
45-p4 43857 7.02 27592 549 15108 7.74
&5+ 24370 8.12 3338 8.09 20910 2.18
FA | 163157 5.80 98917 56778

FHAH I ISR & & ST a1l ] SaE &1 §Hied 5 SHU ST 8r ?

1.1.03
2.1.24
3.234
4.1.98

[Question ID = 4357][Question Description = 199_15_PPS_SEP22_S2_Q99]
1. 1 [Option ID = 17425]
2. 2 [Option ID = 17426]
3. 3 [Option ID = 17427]
4. 4 [Option ID = 17428]



5) The following table shows the death rate per 1000 population by working status of the population of a
given area in the year 2020 and for the Standard Population of any other area in the year 2020,

Death rate
I Total —
e- er
9% Istandard | Currently Employeed |Not in labour force
group . |standard ' '
Papulation )
Population
Death rate Death rate
Populationper 1000|Population|per 1000
population population
17-44 124830 4.65 67987 5.08 20760 3.85
45-64 43857 7.02 27552 549 15108 774
65+ 24370 8.12 3338 8.09 20910 8.18
Total 163157 5.80 98917 56778

From the table, it can be concluded that the crude death rate is higher-among "not in the labour farce”
compared with "currently employed" working category of population.

1. True
2. False
3. Nothing can be said from paragraph
4, Insufficient information to conclude

3 | FAHHS | UM 1,000 B HES TAAF A IR A § 7 aftrs aa
Tl | WEEn | WEEl W gy S : _
SEEEN W 1000®  [WEE@N UG 1000 F
TTEE TR g1 & TTESI R 79 X

17-44 S4930 4.65 67987 509 20760 385
45:p4 43857 7.02 27582 649 15108 1074

G5+ 24370 8.12 3338 8.09 20910 818

FA | 163157 5.30 98917 56778

Aifcid & U8 (FepY [T o 9ol & B GaHH H AR UIE Bradie g1 @] seed &1 godl 5 11 4hS
aT H Gfed 7o o @1 HE HiU® 2
el o] &1 909 BIfeg

1.HRl

2. 7T

3. TS 9 T ol del ol goal 6
4. e &g smaia g

[Question ID = 4358][Question Description = 200_15_PPS_SEP22_S2_Q100]
1. 1 [Option ID = 17429]
2. 2 [Option ID = 17430]
3. 3 [Option ID = 17431]
4. 4 [Option ID = 17432]

Topic:- 22 GP_29SEPT22_SH1_S2_A



1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries: (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vi Types Of Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 90 126 102 24 126
2017 (96 114 75 105 135
2018 |105 80 150 80 75
2012 90 75 135 75 an
2020 (105 60 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 35AH batteries in 2027 compared 1o that
in 20157

1.28 %
231 %
.33 %
4,34 %

fafeRaa aferer & a4 2015 & 2021 90 & SRIF TH DUAT gRT [A@1 Dt 78 [QAFHT TPR I qchal
(BYIR ®) & 3wt - eies fAw v &1 50 aiftreT & siws! & YR W) U= Uyl & Swv difere -

Sciigl @1 a8 - ar oWl
o T &1 713 Sl & UK (B9R 1)
4TUWH | 7UUH | 3280d | 35T | 550 TEH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2010 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

2015 ®1 goiAT H 2021 9 55 U UG 92! B faml J e uiowd ais s i 2

3

1.28 9
2.31
3.33
4.34¢

33‘ Y

3

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_Q01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]



4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a

company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH

afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 91 | 715 920l & UPK (F9R 5)
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

i O a1 | o0 UeR @1 S 91 oo faw] gana® U 7

1.490d
27009
3,329
4,358

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]



3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures af five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Goar Types Of Batteries Scld (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (90 126 102 a4 126
2017 156 114 75 105 135
2018  |105 30 150 90 75
2012 190 75 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

What is the difference in the number of 35AH batteriesseld in 2016 and 20207

1..24000
2..28000
3. 35000
4.38000

FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

eyl @ 99 - ar 61 :
= fashl @1 713 S2l & JBR (F9R )
40U | 7UTH | 3200 | 35U UG | 55 UTH

2005 | 75 | 144 | 114 | 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 | 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 | 75 135 75 a0
2020 | 105 | 60 165 45 120
2021 | 115 | 85 160 | 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4.39000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]



2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]

4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

The percentage of 4AH batteries sold in a given year to the total number of batteries sold in that same
year was maximum in the yearn

1.2017
2.2018
3.2019
42020

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

] &1 715 Scidl & UK (89K 1)
AUW (7YY | 320 Ud | 350U (550
2015 | 75 | 144 | 114 102 108

a

2016 a0 126 102 a4 126
2017 56 114 75 105 135
2018 105 20 150 a0 75
2019 g0 15 135 Ta a0
2020 105 &0 165 45 120

2021 115 85 160 100 145

ol few e ad & Qi @ 5! @) oo ve & oy 9dl ay a1 &1 711 4 T Tg sl @ uiowe e
ay 3 41 7

1.2017
2.2078
3.2818
42020



[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]

5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 75 S0
2020 105 &0 165 45 120
2021  |115 85 160 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1. 4AH
2. TAH
3.32AH
4. 358H



afeRaa arfeer § 99 2015 § 2021 9@ & SRIH T DUAT gRT G DI T8 [AIHA WPR DI el
@R ®) & 9! - sriws feu e &1 59 aifersT & siivs! & YR W Uik w4l & Iux S

=gl ot 9 - ar fEwl
- 991 ®1 5 92l & oK (goR )
AUTH | 700 3200|3500 | 5500
2015 75 144 114 102 108
2016 90 126 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 a0
2020 105 a0 165 45 120
2021 115 85 160 100 145

ad 2015 ¥ 2020 9@ 5 UHR B 9o @ {9t & ¥y fge gt 7

1.400
2700
3.320Tg
435009

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]
3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learming
more personalised and customised, as per requirements of the learners?

1. NEAT
2. NEET
3, SWAYAM
4, SWAYAN PRABHA

nen HETeE, YRd TR B BH U1 gioq Rl 31 arevgsas & ouRr YT 51 AU ufde
3R Tognlf srma o7 & O SHE giar @ Wi #d 8 7

1.EgLE

2EE4

3. TGH (SWAYAM )

4 IG4H UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]



2)
Upon completion of academic programmes (Graduation), what outcomes should the students have

attained?

1. Programme Education Objectives/ Programme oufcomes
2, Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomies

SPET® SHpH! (W) & I & W, faenfial w1 @ ufos ua g 91te 7

1. DD & 3630 / BIUHH TRoTH
2. 913 UiRoms

3. UTauwH 9RO

4, gy s Ui

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_QO07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]

3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking guestions can create curiosity and develop passion far learning.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both A and R are carrect and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4 A is not correct but R iscorrect

Fas Ty GuIN g o o] AT (4) IR T $1 ORI (R) T A 8
HBUA (a) : e o1 ol o v U84 & o Uieiied &A1 9ife Ul

BRI (R) ; 1% TS © formma gfor il & iR AT & forg e o iad gl g
IUUT HYH! B D H Faiied [deedl H§ U HE SR 9 ;

1. (A) 3R (R) THI T8I € 3R (R), (A) P el ARHT 81

2. (A) 3R (R) GFT TE1 & TR (R), (A) T GBT 18T el
3. (A) WBl & IR (R) Wel Tei &

4. (A) W1 781 & TR (R) TRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]



4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]

5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,
. Upto 30% or 3 minutes, whichever is less,

Ju5 LD PO -

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

L 10% °®, 91 3 e, @ W wa gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect



v el ity & faud! & ogaeR # giad 91 QUR TS 35191 § URadT & R T8 8l &, af 99
Fel Wl & -

1. 81YH wHE

2,75 UdE

3, fPER UyIE

4 PRGTR UHIG

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]

7)
The advantages of research based on field experiments are:

A, A strong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEanly

& TERTl OR SR DY & A E -

A, T g §1al 9yl |

8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l

D. UHiH® Hiws| @l go- |

E, forga HR-0F @1 Saxgedl T8l eidl|

i fou e fawed! & @ 8 oW A -

1.@aAA, B ARC
2, FaAE, C AR D
3, HIAC, D ARE
4, FaAA CHRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]



8)
Hiypothesis, that is alternative to null hypothesis, is represented as

1. Hp
2.Hy
3. Ha
4. H

gitee, S X GREeal 6 faded o, @] X191 9l &
1
2
3. Han
4

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1. 1 [Option ID = 17541]
2. 2 [Option ID = 17542]
3. 3 [Option ID = 17543]
4. 4 [Option ID = 17544]

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracis and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T &8 7

1. 93 T 9Y 99X ®e @1 Qideaiy

2, SeTeY forgd Fige ufieiel & 9K Td Sev el &
3, INY 3R @y & foqume & fog sy

4, Fiel® aR] ) o9 ® ael Giieai

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1. 1 [Option ID = 17545]
2. 2 [Option ID = 17546]
3. 3 [Option ID = 17547]
4. 4 [Option ID = 17548]

10)
The Social Science research which is data-based, has been asscociated with

1. Autheritarian made
2, Positivist philosophy
3, Network theory
4 Phenomenology



gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, T2gUeH] oy

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =

11)
The modern-communication revolution is propelled by

1. Cold war propaganda

2, International commerce

3, Techniological convergence
4, Change in palitical systems

YA Ty i s g1 JaRa g 2

1, 2 9= @1 wideret

2, RIPE qifvred

3, g SR

4, Treifam wunel § 9iiady

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learning

C. Minimal assessment

D. Interaction between teachers and students

E, Teacher-centric behaviour

Choose the correct answer from the options given below:

1.4 Band C only
2.B,C, DandE only
3.C, Dand Eonly
4.4 BandDonly



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

WY - | : T T AGRING FaleH] & o8 Spia® Yol @] 4o #9 gl

Y - || ; GRIY HiTSTT, Givpide Ul @] U WaR &1 Y15 g8 a4 & |
Jued Syl & eis H FEfiad Fel H 8 98 v g

1. BYT 1 3R 1 SR EE 8
2. @Y | R I EFI e B )
3. By 1 TRl 5, g @y I e Bl
4, Y | TTd &, fbeg YT 1| TR Bl

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

F@ 0,07 BT 250 § YT {631 S0 1 91 5 Ui 81 7

1.0.0002
2,.0.002
3.0.02

4 0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4[Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

4,98, Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

A W N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

£ emam

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4[Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %



N B1a © Yed O aay | Bla- sasiadies Gigdl | Giowid ais T g :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

AN w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l

FYT - 1) : T3 gRT HIoe @B ITAN a3 T HYdT 34 R $¢ o & 916 96T Judn fed] 3 u=ie
J5%0 YT B4 O B & (08 el (pg] = Godl 6|

Iulad HYEl & AP 8 FRfiad e § ¥ 9ed 3uded 3R 9 -

1. BT | 3R || ST S §
2. BYF 1 3R || SET T B |
3. @Y 1 Hel &, [ 4 11 TTEd 8
4Ty | TTea &, g Y 1 9T &

[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W
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[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]
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1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups



Fafafad Ssxu o ug ik 9wt e wedf & ST S|

Al 30 SiaeR @I Qe alk Y FEie &34 & g gl ¥ 3 Wad T8 & 3991 Aeoiy Ueld SHH
Bl 8, I 9% & Upid U WA Bl & 39 02 @ olEd g0 o AUSIY GHSI0S Hi-dl @1 Jdi pia &
TR UF HUEFHd S TIE & G 9THT 50 BOR 99 Usd g3 U1l U8 WER UPA JaHi® HaeR
&1 Freiva 78 Bl & dites g8 auiied Swel &) vefa Aifd iR difg e 21 som aod e & [ o9y
H GEHiayl & @8 H HHE G-I GdeR @ O 98P s 4 [9HGE 8id] &, 39 U U@l ®] 98 86
7% 54 e aidid [oed] ol Toal © (9 Aeasy g9 9d i 9 Tod if&ia el 9T g8 f99r & a=a o
% 999 § gUe dfed @ ai W offtam § o S S99 § sReangyl BT (8Ted) g1 91 UF gaY ° Ui
HFFaEd ey 4 (F9) T8 $edl Gel 9ol & AFGENd N 3@ RWEH gad gad HGH 964l & HYR
U (3l HR & GEiae 9981 3 d 4| d%da H d 37 9IS Uee] 3 o) 909d do <6 [agd gEiss
el & (oY Ha%us WhEE® AR HIgTiel® 450 [Aaiad g4l 3R d 304 5 &R 3 Seagas 95
| su@ Y 18 g9 T uniie® o @ Raeuul-aed ufaedl, fogd te oafed 98 992 ¢ [ g o9y
5 TEgN PG o] 46l &1 4 Y8 Ud o, 950 64 @ JEIV® Ygal] & Hed ®) BHR (69l o, @ 514
a7 o faemE gl 8 o < 39% Havia FfRd Stel @l i U 16T gu3al g1 o AR uisfas a=di
i) @1 & | 98 ol (el U STUING & o RRAGRI 1 934 3R U8 WIS & Hl 81 38 REdaR
T 91 GEEEN HEad @] S GRIidl & & amdi B @l e S-les gadl B R (@1 6 dfed
Tl oHe® 9 4 TP g o 9IS o) TERU GR 91 390 G 19 & SURa el © | RER GRg@ i ol
Figid 98 @edl & f& 919 @ WYE 19d) Ty R1fth &3 &1 & o Tt oy 9] TR 8l 9X SneTia
B0 & 919 9 950 $ GRF TP gk U Had 9o o | RER RSN NKeR 994 @ [quiid a-icd GGl
U3 ST 6l Bl & SIaiic U8 SR-GR Welgf HfouTa Hereliel 0 4T 8

TG ] WISl Sa® Ul [l gHifdd Sl s 7

1. GTEIE d1-81 @ [THeH
2. AT | RT3 B uPpia

3. ST @1 U@ HaeR

4, GO THE! @1 TE

[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
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2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage



FafaRaa S 9 ue iR 9wfya uie usi & SR 8|

g Y- IR @1 GEIWE G 92 [HH9 B3 @ 08 90 ©4 § W03 -6l § 30| Ja® g deid 991
Bidl &, W 9% § yafa te 919 il & 39 99 @] oEd gU P ey ga@iiae 5Hdl @1 Sai SBial &
TR TP HUETHT Be g & GRI WIHT 50 AR 94 Ugd g3 Uil U8 WER UM ol Haer
&1 P 78 Bl & e gg auied Swel &1 vefa A iR difg e 2 sem agd e & & o9y
3R Sl & wH # A9 TSI A9eR & $B AR alie! § [AFfEE 8 8, 9 TER uefs @1 39 5
0% 54 e aiid [oed] ol Toal © [ Aeasty g 94 i 9 Tod if&ia 3 Tal OT g8 f99r & o= oifd
U% 990 § QU® Aftd & R UK ofiewd 3 o S U9 H SRIweangul e (§7e) ¥R 91 U gER 9 HEd
gAY e U (F0) T SEA1 Tel A £l AEe R S5 WNTH T gREn Sl gedt & 1R
U3 [3A SER & giEive 99s1 H 6d 4| dRad H d 39 GHElS ool H o 999 a® <o aad gl
TN & O M1aRe® WIS A HIaTiEd Tar faerad gdi 9 4 o o e § teaaee 98
| su@T #Y 18 gan 7 uiee o/ @1 Raeyr-Red ufaey, oo ue sofda g8 gugr § 19 98 omgg
& egI G 8] dead &7l § 18 Udd 6, 9gd 86 aF UIHIG GeUN & Hed & BHG G &, @ 914
Tare H fagEE wial § 3R S $9e JHavia Fied el @ 8% 4 [l 95l o | ol faur nielas Amdd
TR @1 8| T8 Gl [Eidal U3 NG & S RXIGRT $1 987 3R I’ Rigsn i) HH 81 98 Rder
TG O G Gl B (UG SRl & 1 9dig 9] ®] TgEiRdl w-ie® gadl o S @1 0 g
Tl oHe® 9 4 TP G o IS o) THRY 91 91 390 G o9 @ SUal el ol e GRge il
Eid 98 @edl & & HFd @ WHIG A9y FEY BT 1 &1 & ol GIER o+ g1 IER lH B eika
T & 919 9 o0 $ GRF TP oY U Had 9o o | RER ISRl RWIGR 994 & [quid a-ied TGl
U 31 81 Bl & Seilies U8 S-SR Yeds] Sfaia Hersiiel U 4T 8 |

FS0 98 HH0 ¢ [0 BHGg gEieeal § Higa 6

1. AEIE FURE

2. foa® amerfa 997 vioest
3. g e wfe® ol

4, SFcE GEGal

[Question ID = 4423][Question Description = 150_81_GP6_SEP22_S2_Q50]
1. 1 [Option ID = 17689]
2. 2 [Option ID = 17690]
3. 3 [Option ID = 17691]
4. 4 [Option ID = 17692]






